
حلول نقل متكاملة
جودة عالية و أمان

مصـــــادر الجــــــزيرة
(103021)

باكم هواء

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


2

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


3

:المتطلبات الفنية
لى الجدار الداخلييجب تطبيق شحم ليثيوم ثنائي كبريتيد الموليبدينوم بشكل متساوٍ ع–1

.وحلقة الانزلاق للبستون أثناء التجميع Yللأسطوانة وسطح حلقة 

في الهيكل الوسطي، يجب إضافة شحم تشحيم Oقبل تركيب حلقة –2

ميجا باسكال في غرف الدفع والوقوف، والحفاظ0.05+ 0.9حقن الهواء المضغوط –3

.دقائق دون حدوث تسرب3على الضغط لمدة 

ن يعود عند تحرير الهواء المضغوط في غرفة الفرامل المساعدة، يجب على البستون أ–4

.ولا يجب أن يحدث أي احتباس( ميجا باسكال0.70)بسرعة إلى وضعه الأصلي 

.ملم5+ 27: عزم القفل للمشبك–5

.عند فك وتركيب غرفة الفرامل المساعدة، يجب استخدام أداة مخصصة–6

.درجة مئوية80+إلى 40-: درجة حرارة التشغيل–7

.يجب أن يستوفي الأداء العملي المتبقي للمنتج معايير الشركة–8

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


4

:متطلبات الأجهزة

مع سمك جدار أكبر من،ADC12يتبع المادة الألومنيومية للمنتج المعيار الوطني –1

.ملم4.2

ة باوستيل    يجب أن يلتزم سمك وقطر عمود الدفع للغطاء العلوي والبرميل السفلي من ماد–2

SPHCبمعايير الصناعة.

.يجب أن يتم معالجة جميع الأسطح الداخلية للملحقات بمواد مضادة للتآكل–3

ي يجب أن تتحمل المساعدات في غرفة الدفع مليون مرة على الأقل، والمساعدات ف–4

.غرفة الوقوف مرتين مئتي ألف مرة على الأقل

Y-3مع : ملم، المشبك64: غرفة الفرامل، السكتة–9

-M16*1.5-2: خيوط البراغي--M16*1.5-2: الخيوط الخاصة بالمنفذ-

ملم305: طول عمود الدفع-M16*1.5: خيوط عمود الدفع-

(T3030DD)رقم العنصر -أسود                        : اللون-

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


باكم هواء

:الصور

5

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


لمزيد من المنتجات والخدمات
:قم بزيارة موقعنا الإلكتروني

www.masader-j.com

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu
http://www.masader-j.com/
https://www.masader-j.com/masader/store


Masader AL-Jazeera
(103021)

Brake Chamber

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


2

2

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


3

Technical requirements

1 – Apply molybdenum disulfide lithium grease evenly on the inner 

wall of the cylinder and the surface of the piston Y-ring and sliding 

ring during assembly2 – Before installing the O-ring in the middle 

body, lubricating grease should be added

3 – Inject 0.9 ± 0.05MPa compressed air into the driving and parking 

chambers, and maintain the pressure for 3 minutes without leakage

4 – When the compressed air in the spring brake chamber is released, 

the piston should quickly return to 0.70MPA) its original position 

and there should be no jamming phenomenon

5 – Clamp locking torque: 27 + 5M. m

6 – When disassembling and assembling the spring brake chamber, it is 

necessary to use a dedicated tool

7 – Working temperature: -40~+80 centigrade

8 – The remaining working performance of the product should meet 

the enterprise standards

3

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


3

Hardware requirements

1 – The aluminum material of the product adopts the national 

standard ADC12, with a wall thickness of larger than 4.2mm

2 – The thickness and diameter of the push rod for the upper cover 

and lower barrel of Baosteel SPHC material must meet 

industry standards

3 – All surfaces of internal accessories must undergo anti-corrosion

treatment

4 – Driving chamber spring greater than or equal 1 million times, 

parking chamber spring greater than or equal 200000 times

9 – Brake chamber, Stroke : 64mm Yoke: with Y-3                

- Port thread:2-M16*1.5                  - Bolt thread:2-M16*1.5  

- Push rod thread: M16*1.5             - Push rod length:305mm

- Color: Black                                      - Item No (T3030DD)

4

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


4

Brake Chamber

Photo

5

https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu


For more Products & Services
Visit our Web site :

www.masader-j.com

http://www.masader-j.com/
https://www.masader-j.com/masader/store
https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

